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Abstract. In this paper we construct the Lp-criteria for testing hypothesis on the covariance function
for the centered stationary Gaussian sequence. It was investigated how such criteria work in some
particular cases using the simulation study.

�������
�	 # &'('A4 )*&'2*4/C Lp0123'4233 -67 )2*.4213 83)*'49C * .3-4 1*.(23(:3*//*;

<,/1:33 -67 :4/'232*.(//*; &'(:3*/(2/*; 8(,&&*.*; )*&64-*.('46A/*&'3� >C6* 3&64-*.(/* 1(1

2(+*'(@' '(134 123'4233 . 1*/124'/C= &6,D(7= )23 )*B*E3 B*-4632*.(/37�

�� �����

������ 	 
��
�
�� 	 ����� 	��� ���������� 	������
��� 	���� � ���
�������


����
����� 
������
�� ���
���
������� ��� �� �� ������� ��	�
����� ����
�� �� 
��
� ����
��� ����� �
�!� "� "���"� ��������#��� 
��� 
 ��
�� "�"���� ����� �
��
��� ��� ������������� �������
��� 
�
����� ����� ��� ������
��� ��"��������
��
���� �� �����#�� �� 	������� $��������� 
��� 
 ��������� "�"���� ����� %�"�
�� ������&� "� 
 ����
��"� ���&��"� ��"� 	 
������
�"� ���
���
�����"�� !�
	�"�

�� �����
������ � 
��
�
���� �� ��	#
����

' ����� ������ ��
� ���
������ &�����
��� #����
� ���&������� 
 ������"� �����

������
� ���
���
������ (
� ��� ��
� ������
��� Lp �������� �
� ����
���� #��� 
��	� ��� 
�#
�� ��
����&����� $���&��� )
������ ���#� 	 ������ ����
�� ����
� ����
��� ������
��� *�+� *,+� *-+ "������ ��	��
�� !� ����
����� ��"�� �� ����
��������� ��
������ ���� 
����
������ 	��������
���� "���
�� �� ��� %��� �������� 
 ����
��"�
��	������ �� �����"� �����!���� !��� 	�
����
 .�������/ "���
�� 0�����
��� Q 
���������� 1����23���� .��
�*4+/ �� �� ��������
��� 
����� 5���#�21���� .��
� *�6+/
��	������ �� 
������
�� �
������
�&�� �������� (
� ��
������� "���
�� ����
��
����
� ���� ������
���� 7��
����" �� 5� *��+ ��	������ �� ���
������� �
������ 

�&�� �
������
 �������� 8�� �� (�� *9+ �
� 
��

���� ������������ 

����
�����

������
�� ���
���
������ 	��������
�
� �������
���� ������� 3�� 
�����������
����#� ���� �����
 �������� �������
�
��� 	�
���� "���
��� !� "��� ���� ������
����
�"������" 	�
�����"� ����
��� ��
� "���
� �� "��� ���� 	�������� � 
� 
#
��� �
����#����� ���������#� �������� %���� 
 &��"� 
������� 	�
���� "�����
�� ���� ����	����� 
�	������"��

7� � 	��������
�
� ������� �
������� 	 ����� 	��� ������ 
������
�� ���&���
�
�� 

����
���� ���&��� 
�	��������� ��#� "���"������" �����
����" �� ��
���� 
&����� $���&���� :�"� ����� ������ 	������
���� 
 "������"� ��
����� .��#
�

���� ����������	 
��
��� ���		��������� F�
���� ��G��H ��I�JK��� ��G���

������� ����� � ������ �.(-2('3D/*8* 8(,&&*.
 .3)(-1*.
 .463D3/3� .3)(-1*.
 )*&6
-*./*&'
�

D(&*.
 27-3� 1*.(2
(:
;/
 <,/1:
5�

���



��� �� �� ��	
��

������� ���	���
� �
�� ������ ���������� ����
 �� ������� �! �����"��#� $�%
&#��
'���%� �� '�(��! ���
 �
#��
����
'
 �����! #�%
 ���)�� '�* ��������%���+ ���#��,
-����.� ���+�#�� /%+ �������
 Lp,#�
����0� ��%� �
#��
����� ����� #������
-��
.������
" �
���#��
" ��%
-
�� ������� #������
-�� .������
" �
���#��
" ��%
-
�
��%� ����&� ������� � �1�� 2 #�
$� �3� ��%� ���%��(��� �%���
����� )
" ��������� ��
�������%��� 0" $�4+$�# $ ��&
'
 ��������'
 �
���#��
" ��%
-
��
/��� �����+ * ������(���+' ��.�� 5� ��%� $���%��� � ������" ��6� �� �7�� 8�#��'��

� ���&�9 $ )
" �����9 ������%
�! #�
����0 �%+ �������#
 .�����$
 ��� #������)�9��
:��#)� )���������0 .�������0 ���%��������� � �����'����9 '���
)�� /��.� �����+
��%� ��
��+-��� �������� #�
���� � �����'����9 '���
)� �%+ �
���#��
" ���%����,
�����9� #�%
 �������� ����-���� $���
�
 �
�����# 5��� '���'��
-��.� ���������+
�� #������)�9��0 :��#)�0� ��� #�%
 ���%��������! * ��#�����$��-�� � 2 )�9 ������
'
 �(� �
#��
�������%
 Lp,'���
#� �%+ �������
 #�
����0�� 5� * �%!������
�� 
�����'����0 '���
#
� 8�#��'�� Lp,'���
#� '�(�� �
#��
��������
 � $���-�" ����,
#�
'�)�0 ;�
�� �<���
=����� ��.���$����� ��#
' -
��'� ���&
9 ��$��% * ������'� �� ��������%���

������
9 $'��� �����
� 00 �#���%!����! �� $�4+$�# $ ��&
'
 ������'
� /��.
9 ��$,
��% ��
��+-��
9 �����0 #������
-�� .������
" �
���#��
" ��%
-
� � '���
�! �������
�$��-���+ �� ��$�%!���
� 8�#��'�� $��9���� �)��#� �%+ ��$����%� ��'
 �������� p
#������
-�� .�����
" �
���#��
" ��%
-
� ���'� �������'
� 2 ��$��%� > ������,
�� ������ $� ����'�.� +#�.� '
 �)�� *'� #������)�9�� :��#)� �� ��#�$��� +#�
��%
-
�
 ��
 ��#�'� �)�� ����� �����! #������
-�� .������
'
� 2
#��
����� ,
-
 �)��#
 ���
'��� � ��$��%� �� � -�������'� ��$��%� ��%� ���������� #�
����0 �%+
�������#
 .�����$
 ��� #������)�9�� :��#)� ���)�������0 )���������0 .�������0 ��,
�%���������� 2 �4+��'� ��$��%� $� ����'�.� '���% ����+ ��#
" ���%���������9 ��,
%� ���������� +# ���)  �! )� #�
����0 � #��#����
" �
���#�"� =�$��% ? '���
�!
�
����#
 �� ���%�$ ���
'��
" ��$�%!������

�� ���������	
 ���

�� ������
�� ������	�

@�"�9 (Ω, F, P) A ���������
9 �'��������
9 �������� �� +#�'� �
$��-��� ��'����
.������� )��������� ��#���
 −→γ T = (γ1, . . . , γr) ����%!��0 ��$'������� r ≥ 1� =�$.%+��,
'� ��'4 SG(0)(Ω) �
���#��
" ��%
-
�� +#� '�(�� ��
�����
�
 � �
.%+�� −→γ TA−→γ � ��
A A )� ���!,+#� ��9���$��-�� '���
)+ ��$'������� r×r� ��
-�'� r �����.�* '��(
,
�� ������%!�
" -
��%� B# ��%� ��#�$��� � �3� ��'4+ SG(0)(Ω) +�%+* ���� %���9�
9
���������� � �������� L2(Ω)� C��� %���9�� $�'
#���+ )�*0 ��'40 � ������!�'� #�����,
�
-��'� ���� �����������' � �������� L2(Ω)� +#� '
 � ����'� ��$
���
 ��������'
#������
-�� .������
" �
���#��
" ��%
-
��
@�����'� ��%!& :��'�%!�� �$��-���+�

��������� �	
	 �3� ������� SG(Ω) ����'� ��$
���
 ��������' #������
-�� .�,
����
" �
���#��
" ��%
-
� +#5� ���!,+#
9 �%�'��� ξ ∈ SG(Ω) '�(�� �����
 �
�
.%+��

ξ = −→γ TA−→γ − E−→γ TA−→γ , ;��

�� −→γ T = (γ1, . . . , γr) ;r ∈ N� A ��#��� ��'���� .������
" )��������
" �
���#��
"
��%
-
�� AA ��9���$��-�� '���
)+D ��� �%�'��� ξ ∈ SG(Ω) * .���
)� � ������!�'�
#������
-��'� ���%��������� �
���#��
" ��%
-
� {ξn, n ≥ 1} �
�� ;��

ξ = l. i. m
n→∞ ξn.

/%+ #������
-�� .������
" �
���#��
" ��%
-
� �������%
�� �������� �����'
�



Lp��������� 	�
 ���
�� �
���������
� ������� ��	���
�
� 	
�
��
��
������

������� ��	 ������ ����� ξ ∈ SG(Ω) �� D ξ > 0� ��	
 ����
��� ���
��
��� �����

�
����� 	�� ��
� |s| < 1

E exp
{

s√
2
· ξ√

D ξ

}
≤ 1√

1− |s| exp
{
−|s|

2

}
. ���

������� ���� ��� �
	������ |s| < 1� p ≥ 0 �� ξ ∈ SG(Ω)

E

∣∣∣∣ s√
2
· ξ√

D ξ

∣∣∣∣p ≤ 2ppe−p√
1− |s| exp

{
−|s|

2

}
. ���

����	����� � 	
�
� 

 ��� ���� x > 0 	� p ≥ 0 xpe−x ≤ ppe−p� 	
�	
 xp ≤ ppe−pex

��������� 

 ��� ���� |s| < 1

E

∣∣∣∣ s√
2
· ξ√

D ξ

∣∣∣∣p ≤ ppe−p E exp
{∣∣∣∣ s√

2
· ξ√

D ξ

∣∣∣∣}
≤ ppe−p

(
E exp

{
s√
2
· ξ√

D ξ

}
+ E exp

{
− s√

2
· ξ√

D ξ

})
≤ 2ppe−p√

1− |s| exp
{
−|s|

2

}

������� ��������	� ��� ���
���	��� �� ��� �
��	���� 	�� � ��� ��� �!��� s" �

������� ��
� ��� �
	������� �����
 ����	����� ������� ξm� m = 1, . . . , M � M < ∞
� �������
 ���	��������� ��
������ ����	����� ������� SG(Ω)� 	�� ��
� p > 0 ��

δ > pM1/p

√
2

(
1 +
√

1 + 2
p

)
P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ ξm√
D ξm

∣∣∣∣p
)1/p

> δ

⎫⎬⎭ ≤ 2

√
1 +

√
2δ

M1/p
exp
{
− δ√

2M1/p

}
. �#�

����	����� $���% ε > 0� |s| < 1 	� r ≥ 1" &
��� '��	
�����(� ��������	� )���(���
!� 
	��!��!
� 



P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ s√
2
· ξm√

D ξm

∣∣∣∣p
)1/p

> ε

⎫⎬⎭ ≤ 1
εpr

E

(
M∑

m=1

∣∣∣∣ s√
2

ξm√
D ξm

∣∣∣∣p
)r

.

� ������
�	� *���
����
�
 	� ������
�	� ��� ��������� 

(
E

(
M∑

m=1

∣∣∣∣ s√
2

ξm√
D ξm

∣∣∣∣p
)r)1/r

≤
M∑

m=1

(
E

∣∣∣∣ s√
2

ξm√
D ξm

∣∣∣∣pr)1/r

≤
M∑

m=1

(
2(pr)pre−pr√

1− |s| exp
{
−|s|

2

})1/r

= 21/rM(pr)pe−p 1
(1− |s|)1/2r

exp
{
−|s|

2r

}
.

+ 
	,��

1
εpr

E

(
M∑

m=1

∣∣∣∣ s√
2

ξm√
D ξm

∣∣∣∣p
)r

≤ 2√
1− |s| exp

{
−|s|

2

}
rrp

(
Mpp

epεp

)r

=
2√

1− |s| exp
{
−|s|

2

}
ϕ(r),

���



��� �� �� ��	
��

�� ϕ(r) = rrpar� r > 0� a = Mpp

epεp �
����	�
�� �
���	� ϕ(r) = rrpar� r > 0�

ln ϕ(r) = rp ln r + r ln a,

(ln ϕ(r))′ = p(ln r + 1) + ln a = 0, ���
 r∗ = a−1/pe−1.

� ����	 r∗ = ε
pM1/p �
���	� ϕ(r) ���
��� ����� �	�	�������� �������� ϕ(r∗) =

exp{−pa−1/pe−1} = exp
{− ε

M1/p

}
� ��� ���	��	���  	���������� �!������
�� �
"�

��� r ≥ 1� ���
 ��� ����� #�� �	�	�	�
���
 �
��� � $%& !� r �
 ���������� �
"�
�
!���� ���
 r∗ ≥ 1� ����� ��#� ε ≥ pM1/p�
'��
� �
���� ��� ε ≥ pM1/p

P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ s√
2
· ξm√

D ξm

∣∣∣∣p
)1/p

> ε

⎫⎬⎭ ≤ 2√
1− |s| exp

{
−|s|

2

}
exp
{
− ε

M1/p

}
.

�
����
�� δ :=
√

2
|s| ε > 0� �� 0 < |s| < 1� '��	�

P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ ξm√
D ξm

∣∣∣∣p
)1/p

> δ

⎫⎬⎭ = P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ s√
2
· ξm√

D ξm

∣∣∣∣p
)1/p

> ε

⎫⎬⎭
≤ 2√

1− |s| exp
{
−|s|

2
− |s|δ√

2M1/p

}
=

2√
1− |s| exp

{
−|s|

2
c

}
=: f(s),

�� c = 1 +
√

2δ
M1/p �

����	�
�� �
���	� f(s)� 0 < |s| < 1� (��	���
 ���� !����� ���
 �
���� ������)
���
 ** !�
 0 < s < 1�

ln f(s) = ln 2− 1
2

ln(1− s)− s
c

2
,

(ln f(s))′ =
1
2
· 1
1− s

− c

2
= 0, ���
 s∗ = 1− 1

c
> 0.

(��	���
 !�
 ��	+ δ > 0 c = 1 +
√

2δ
n1/p > 1� ���
 0 < s∗ < 1� � ����	 s∗ �
���	� f

���
��� ����� �	�	�������� ��������

f(s∗) =
2√

1− (1− 1
c

) exp
{
− c

2

(
1− 1

c

)}

= 2
√

c exp
{
−c− 1

2

}

= 2

√
1 +

√
2δ

M1/p
exp
{
− δ√

2M1/p

}
.

,�	��
 	 ���
�
��� ���	��	��� $-& ��� �
+ δ > 0 ��� ��
+ s∗√
2
δ =

√
2δ

M1/p+
√

2δ
δ√
2

>

pM1/p� (������ 
���� �
�� �
���
���
�� ���
 δ > pM1/p

√
2

(
1 +
√

1 + 2
p

)
� �

������� ��	� ��� ������	
�
 �
�
�� ���
�	
��� ������� ξm� m = 1, . . . , M � M < ∞
� ��
��
�� 	�
��
����
�
 �
���
��� ���
�	
��� ������� SG(Ω)� ��� ���� p > 0 �




Lp��������� 	�
 ���
�� �
���������
� ������� ��	���
�
� 	
�
��
��
������

δ > 0

P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ ξm√
D ξm

∣∣∣∣p
)1/p

> δ

⎫⎬⎭ ≤ 1
δp

2
p
2 +1M exp

{
− p

2

(
1 +
√

1 + 2
p

)}
(√

1 + 2
p − 1

)p
√

1 + p− p
√

1 + 2
p

. ���

���������� ������		
 ��
� ������� �	������	� ������		� ������� ���� ��� �������
	����	���� ��	 ���� ��� �� ������!
�� 	����	���� "�#�$���� % ����! ��&�� ! ��'
�	���� ���	 � #!�� ��	$��� ��� �� �� ��	�� �� !	� 	��� !��� 	� &������� δ�
(�)�� ��
 ���* δ > 0 �� 0 < |s| < 1

P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ ξm√
D ξm

∣∣∣∣p
)1/p

> δ

⎫⎬⎭ = P

⎧⎨⎩
(

M∑
m=1

∣∣∣∣ s√
2
· ξm√

D ξm

∣∣∣∣p
)1/p

>
|s|√

2
δ

⎫⎬⎭
≤
( |s|√

2
δ

)−p M∑
m=1

E

∣∣∣∣ s√
2
· ξm√

D ξm

∣∣∣∣p

≤
( |s|√

2
δ

)−p M∑
m=1

2ppe−p√
1− |s| exp

{
−|s|

2

}

=
M2

p
2 +1ppe−p

δp

1
|s|p

1√
1− |s| exp

{
−|s|

2

}
=: Cf(s),

�� C = M2
p
2 +1ppe−p

δp �� f(s) = 1
|s|p

1√
1−|s| exp

{
− |s|2

}
�

��������� +!	 ��� f(s)� 0 < |s| < 1� ,
 +!	 ��
 &��	�� ���! #!���� �����
����
�� ��$� &�� 0 < s < 1-

ln f(s) = −p ln s− 1
2

ln(1− s)− s

2
,

(ln f(s))′ = −p

s
+

1
2
· 1
1− s

− 1
2

= 0,  ��� s∗ = p

(√
1 +

2
p
− 1
)

> 0.

.�� ���* p > 0 0 < s∗ < 1 �� � ����� s∗ +!	 ��
 f 	�#!��
 ����� ��	�����	���
�	���		


f(s∗) =

exp

{
− p

��
1+ 2

p−1
�

2

}
(
p
(√

1 + 2
p − 1

))p
√

1− p
(√

1 + 2
p − 1

) .

/����� � �����!
�� 	����	���� ���� �

�� ����������	� 
�	���
 ������	��	�� ��������� ��������	����

0����
	��� ������	��	! ��!����! &�������	���� {γi, i ≥ 1} �� !� 1� ��
 ���* i
E γi = 0 �� E γiγi+m = B(m)� m ≥ 0 2  ��������3	� +!	 ��
 ��
� &�������	�����
.��&!������ 1� �� ��
�� N �&������)�	� ��
� &�������	�����

4 
 ���� ���	 �  ��������3	�� +!	 ��� B(m) �����
	��� �������� !

B̂N (m) =
1

N −m

N−m∑
i=1

γiγi+m, N ≥ 1.



��� �� �� ��	
��

������ B̂N (m) � ��	
�����
�

E B̂N(m) =
1

N −m

N−m∑
i=1

E γiγi+m = B(m).

�������� ΔN (m) = B̂N (m) − B(m) � ����������� ��������
 ���������
 �����

����
� �������� B̂N (m) 
���� 	������� � ������� (γ1, . . . , γN−m)TA(γm, . . . , γN )� ��


������

A =

⎛⎜⎝
1

N−m · · · 0
   

   
   

0 · · · 1
N−m

⎞⎟⎠ .

!����"��
� ��������
 ��� ΔN (m)

DΔN (m) = E(B̂N (m)−B(m))2 = E

[
1

N −m

N−m∑
i=1

(γiγi+m −B(m))

]2

=
1

(N −m)2
E

⎡⎣N−m∑
i=1

N−m∑
j=1

(γiγi+m −B(m))(γjγj+m −B(m))

⎤⎦
=

1
(N −m)2

N−m∑
i=1

N−m∑
j=1

E γiγi+mγjγj+m − B2(m).

#� $��
���
 %�������� ��� ����������" ��������" ���������" �������

E γiγi+mγjγj+m = E γiγi+m E γjγj+m + E γiγj E γi+mγj+m + E γiγj+m E γi+mγj

= B2(m) + B2(j − i) + B(j − i + m)B(j − i−m).

&���

DΔN (m) =
1

(N −m)2

N−m∑
i=1

N−m∑
j=1

[
B2(j − i) + B(j − i + m)B(j − i−m)

]
=

2
N −m

N−m∑
k=0

(
1− k

N −m

)[
B2(k) + B(k + m)B(k −m)

]
' Lp��������� 	���
���� ��	���
� 	�� 
����� ��
���������� �������

!�������
�� �� 
� 
��
� N ����������" ������������ �����( ���������( ������

�������� {γi, i ≥ 1} � 
��
� �������� ����������� �� �� ������������� � ����������
�

�����������
 �� ��������
 	 ���������)��
 $������
 B(m) 

�������� �	
	 *�"�) ������� ������	� H0 ������� � ��
�� �� B(m)� m ≥ 0 � ���

�������)��
 $������
 ������������� {γi, i ≥ 1}� � ������������� ������	� Ha + �

��
�� �� B(m) �� � ���������)��
 $������
 ���( ������������� ,��� ��� �����

	��������� α� ������� $���������� 	������� p > 0 �� M < N(
M−1∑
m=0

∣∣∣∣∣ ΔN (m)√
DΔN (m)

∣∣∣∣∣
p)1/p

> δα,

�� δα + �� 	�������� ��� ���
�

2

√
1 +

√
2δα

M1/p
exp
{
− δα√

2M1/p

}
= α,



Lp��������� 	�
 ���
�� �
���������
� ������� ��	���
�
� 	
�
��
��
������

��������	 δα > pM1/p

√
2

(
1+
√

1 + 2
p

)

 ���
 �
������ H0 �
����������	 �� �� �
����������

� 
����� ��������

�������� �	
	 ����� ������� �
������ H0 ������� � ����	 �� B(m)	 m ≥ 0 � �� 
���
�!
���" #���!
�" ����
�������
 {γi, i ≥ 1}	 � ������������� �
������ Ha $ �
����	 �� B(m) �� � �����
�!
���" #���!
�" !
�% ����
�������
� &��� ��� �
���
���������
 α	 ������� #
��������� �������� p > 0 �� M < N(

M−1∑
m=0

∣∣∣∣∣ ΔN (m)√
DΔN (m)

∣∣∣∣∣
p)1/p

> δ∗α,

�� δ∗α $ !� ��������	 ��� �����

1
(δ∗α)p

2
p
2 +1M exp

{
− p

2

(
1 +
√

1 + 2
p

)}
(√

1 + 2
p − 1

)p
√

1 + p− p
√

1 + 2
p

= α,

���
 �
������ H0 �
����������	 �� �� �
���������� � 
����� ��������

���������� '�(	 )������ ������� ���� ��� ������
%� '�( �� '�*	 ��+��	 ����
��
���
����	 �� +��� ���+���� �������� ��� ��	 �� B(m) �� ��,� +��� �����
�!
���" #�� 
�!
�" ����
�������
 {γi, i ≥ 1}	 ���� ��������
 !� ���	 +��� �����" �+� �
���" α�

���������� '�*	 -����� ������
� � +
��� ��
���������� ���
���� �� �
����� �+�� 
,��� �� �������� �������� δ∗α	 �� ��� �
�!� ��� ������� ������
"� .�� �� �����
��������" ������� ������
" � ��	 �� ���
��
���	 �� �����
 ���% �
� ��+��������	 �
+
��� �����"�

/� ��������	�
� �����
 Lp���
������ � ����
� ��������
� �
������

0��������� �� ���!""�� ������
% '�( �� '�* � ������ ���������� �������� ���
�
���� ��������� ��������� p�

-�� !���� �� +����� �����"���� !��������� �������� ��������� ����
����
���
� �����
�!
���" #���!
�" B(m) = e−|m|/l	 m ∈ Z	 �� l $ �������� ������+�� -��
!���� ������������� ���	 �� ���� ����
����
��� ��,� +��� ������ � ������
 �����

�������� ����������

γi =
∞∑

k=0

βkζi−k, i ≥ 1

�� βk =
√

1− e−2/l · e−|k|/l �� {ζk, k ∈ Z} $ !� ����
����
��� ������,��� ���������
���������� �������	 �����	 �� ��� ��
� k E ζk = 0	 E ζ2

k = 1� 1 !���� �������
E γi = 0 ��� ��
� i �� ��� m ≥ 0

B(m) = E γiγi+m =
∞∑

k=0

βkβk+m =
(
1− e−2/l

) ∞∑
k=0

e−k/le−(k+m)/l = e−m/l.

-�� �����"����� �� ������������� ��
�����" ����"

γ̂i =
K∑

k=0

βkζi−k, i = 1, . . . , N.

1����������"�� ���������� ��+��� 2(34	 +��� ����
�,���	 �� ��� �
��
 ���������

5�66 �� �������
 5�55( ���������	 ��+ K > 11�

-���
����	 �� +����� ��������� ������
% '�( �� '�* ��� ��������� ��������
�
p = 1, 2, 3 �� M = 3, 5, 10	 ���� �� ������� �
������ �� ���������	 �� B0(m) =
e−m2/l	 ��� �
���� �������� ��������� ������+� l = 1 �� 10	 ���� ��������
 +�����
���������� ����
����
��� � �����
�!
���" #���!
�" B(m) = e−|m|�
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������� �	
	 ����� ������	�� ��
�	��
 ��� ������������� �
����� B0(m) ������

��� �� 	��	� B0(m) = e−m2
� � � ��
 �!����
 ��"�!�� ��# ���
��� �������������

�
������ B(m) = e−|m| 	� 	���� $� ��!�

���	 
�� �
�� �� �
#� ���!��� %�!��
�!
� �&�
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���� �� '����������� �
����� B0(m) = e−m2
	� B(m) = e−|m|

(������)! �*** 
!�
����� ��
�������
	� " ������������� �
������ B(m) = e−|m|

��! ��"�!� ��"����� �!����! �! ��
���#
���! ���! ��!	���� �
�
	 ��"��"��	! �� ���
������������ �
������ +! "������ ����� �����! 1−α = 0.9� (�� 	������� ,��"��"���
	!- �! �
���� ��"
��	! 
!	
����� ��! ���� ��!	���� �
�� ���!	! ����!� �!� �!
���
���� 	��	� .����!	!� $� ".��������� ��
�������
	 ��� ���
 �����������
 �
������
��# �! ��!�

������ ��)� � � �����
 �!����
 " 	!
�)�� /� ����"
�	 ��"
� 	�	!
������������ ��! "��� ����� ��"���
 �!����! )�
	�	� ��!�!� �!� �!
������ ��
��
	�.�� �� ��!	���� ��)�� ��"��"��	! ������������ �
������ ��
!	 ��!��� ��
�.��
�**0�

(�!��!"�� "��)���� ��"���
 �!����!� ���! ��!	���� ��! ��"�!� "��)����� �����
��	��� ��)!���	 ��"��"��	! �� 1 ������������ �
����� ������ � 2���!�� �� (����
��� ����! �
�! �	�!���� ��! �!���!
	���� ��!	���� 3�� ���! �! ������
���! 4 	�
�* ����!� "��)�� ������������� �
������ 5
	����� ����� � 2���!�� � �! �	�!���
�! "�
	�
��
�)! ��!	���� 3�1 ��! �!���!
	���� ����!� �* "��)�� �������������
�
������

���	� �

N p = 1 p = 2 p = 3
M = 3 16 *** �* *** 7 ***
M = 10 8�** *** 6* *** 16 ***
M = 10∗ 8�** *** 7* *** 16 ***

������� �	�	 ����� 	���� ������	�� ��
�	��
 ��� ������������� �
����� B0(m)
�������� �*� 	��	� B0(m) = e−m2/10� � � ��
 �!����
 ��"�!�� ��# ���
��� �������

������� �
������ B(m) = e−|m| 	� 	���� $� ��!�

���	 
� �
�� �#� ��� � "��)���
%�!�� �!
� 1&�
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 B0(m) = e−m2/10 �� B(m) = e−|m|

�� ����	 
����
� ���� ���	
���� 
��
��������� � ������������� �	������
B(m) = e−|m| 
�� ������ �������� ������� �
� ���
������� ����� ��
� ������� 
�	�	�! ���������� �� ��� ������������ �	���� " #����! ������� $� �� ������
� �����%
����� 1− α = 0.9"

&���
���� ���'���� ������	 �������� ��
� ������� 
�� ������ ���'����� 
���%
������ 
�'�����! ���������� ������������ �	���� 
����� � (��
��� )" &��*� ���
����� �	
� �������� 
�� ������������ �������� +"� ��
� �� ������	��
� , �� ��

��*�� ���'��! ������������ �	���� " -������� ����� � (��
��� ) �� ������
� ��%
������	�'� �������� +") 
�� ������������ 
��*�� �� ���'��! ������������ �	���� "

����� �

N p = 1 p = 2 p = 3
M = 3 ) .�� ) ��� � ���
M = 10 / ��� + ��� , ���
M = 10∗ 0�� ��� . ��� , ���

���������� ."�	 -����� 
������ 
��*��� ���	 	 ���� ����
��	��� ��
������ 
��
������	����� ���� ������� �� �� 
������*	��
� �������� ����� ���'	$���� α = 0.1"

1" ��	
��
�

2� 
�����
� 
���
��� ."� �� .")� �� �� 
������! ������� +"� �� +") ��
����!
��� �����!�� ��
������" -������ �������� ����� �����	
����� ���3

• ��$� ������� ��� �������������� �	������� �����! ���'�� 4
���
�� .")5�
���� �
� ����� $�� ������� 
�'���
�  � ���������� ��������� ���*� ��������
��� ��
� ���� � �����! ������� 4
���
�� ."�5 
�� ����� � ��� �� ���'�����
��*�� 
���������"

• ��$� 
���������� �����	 ������� � 
�� ������ ���'����� p = 1, 2, 3� �� �'�%
������ $� ������������ 
�� p = 1 � ��
�����������" 2�$� 
����������
p = 2 �� p = 3� �� ������� ���$� 
������! 
�� p = 3" 6
� ���
���� �
����� ���
�����! ����������� 
�����'�� �����
������ ����� ������� �"
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��� 
�� p = 2� �	�� ��
�� 
�������� p �������� � 
����
����� ��� �	������	� �������

• �� 
	������ ���������� �	���������� 
�� ���	�������� M = 3 
���� ���!
���� �	�������"�	� #������� �������" $�% 
����& ���'�� ��� 
�� M = 10� (�
�	�� 
��� 
	�)����� � 	�������� ��� ���	����	�������� 
�� 
	
��	�� �����!
����� *�� 
���� ������� �	�������"�	� #������ �� 	����� & �	���� �	������
� �	" ��� �� ��� ��� �����
�� ������� �	�������"�	� #������ �	������ 
���
�
������ �	
�	� ��� ���� �������� ���	����	���	 �� ���	����	������ ��!
�� 
����	 ������� �	�������"�	� #������ ��� 
�������� �������� 
�	 ������
�	�������"�	� #�������

• 
	�������� �	
	�� ��������� $�% �� $�+ 
�� M = 10 �� 
	
������ '	 
��
�
�������� 
�������� p ������� � �	��	��� ��� ���� ���& ��� ���� ���!
��	�� ��� 
�� ���	�������� L2!��������� ���'� ���!���� ���	����	������
�������" $�%�

����������

�� �� �� ����	
��� ��� ����������	 �
�	���� �
 ���� ������� 
��� ����� � ���
� ��� ��	�� �����
�� �� �� �� ���� ��  � 
�����
� !�� �� "� #���
��� ���� ������ �
�	����� ���������
� �
� ��
���	�
$%� ���%���� ����� ��	��
 �� �	�&!&���%� !�� �%!%�
%�'
� �(���

)� �� �� �� ��� !�� *� �� ���	'�� �����������
 �
 ��� �������	 ���������	����
� �
 ��������������

�
�������� ����
� ������� ���� ������ ����	�� 
� �+�	� �%!%�
%� �

�'� �� ,���(-� �.(�/�.�0�

$� �� 
� �	�'����� !�� #� �� *!1�
� ���� ������� ������ �
� �������� ��'��� ���%���� �2	��3�	
��	��
 �� �%!%�
%�'
� �2	��3�	45�	�!3� ��� ��	�� �((��

.� 5� 5� �6���3�� !�� �6� 5� 7�8!'������ ������ ���������������
 �
 ��
��� ������	�� �
�

��
��� ���������� �+�	�  !%�� ��'�� �	�1����'�� #�9� �(((�
0� �� �� "��� !�� #� �� *��� � ��
���	���� ������
���� ����
�����
���� ���� 
�� ���� ������

����	�� �'���+�%	�' ����	� �� ,�(($-� ��� �� ):�/$�0�
�� ;� ��� 7!+��
�'����1! !�� �� ;� 9!��1�'�� �
 ������������
 �
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